VEL
B LY HANSAVFLEX

_}:3 swo 8
01 KR FIRK _ - A S

A 5 - r'r |
BEER 1 EEkCHER . é7-~~qﬁ1--~¥-¢

= - i Tz
BO2+3  KASRSEERR R bu — IR i
BHER2+3 24°WE N N i %
T 7 BT R RS B - - o >
EHURR L odaz
Bk DIN 2353 (PR S
1ISO 8434-1
HEEHE HHRRS AT EE
[E ez
RERP AR
7R
BXEE, BA. EAARAAES THERENEBEESHERRERNEREL,
# &
MR THEEN B

VEL 16 LL LL PN 100 16 M22x1.5 36 21,0 21,0 19 27
VEL NW 04 HL L PN 315 6 M12x1.5 27 12,0 26,0 12 14
VEL NW 06 HL L PN 315 8 M14x1.5 29 14,0 27,0 12 17
VEL NW 08 HL L PN 315 10 M16x 1.5 30 15,0 28,5 14 19
VEL NW 10 HL L PN 315 12 M18x1.5 32 17,0 29,0 17 22
VEL NW 13 HL L PN 315 15 M22x 1.5 36 21,0 32,0 19 27
VEL NW 16 HL L PN 315 18 M 26 x 1.5 40 23,5 35,0 24 32
VEL NW 20 HL L PN 160 22 M30x 2 44 27,5 38,0 27 36
VEL NW 25 HL L PN 160 28 M 36 x 2 47 30,5 41,5 36 41
VEL NW 32 HL L PN 160 35 M 45 x 2 56 34,5 51,0 41 50
VEL NW 40 HL L PN 160 42 M52 x2 63 40,0 56,0 50 60
VEL NW 03 HS S PN 630 6 M14x1.5 31 16,0 27,0 12 17
VEL NW 04 HS S PN 630 8 M 16 x 1.5 32 17,0 27,0 14 19
VEL NW 06 HS S PN 630 10 M18x 1.5 34 17,5 29,5 17 22
VEL NW 08 HS S PN 630 12 M20x 1.5 38 21,5 30,5 17 24
VEL NW 10 HS S PN 630 14 M22x1.5 40 22,0 34,5 19 27
VEL NW 13 HS S PN 400 16 M24x1.5 43 24,5 36,0 24 30
VEL NW 16 HS S PN 400 20 M30x2 48 26,5 44,0 27 36
VEL NW 20 HS S PN 400 25 M 36 x 2 54 30,0 49,5 36 46
VEL NW 25 HS S PN 400 30 M42x 2 62 35,5 55,0 41 50
VEL NW 32 HS S PN 315 38 M 52 x 2 72 41,0 63,0 50 60
SEWRFILL=FER =B S=E - PN=#IEES PB=8AIEESN - 0d2=EHER
FEREE

VEL MG ERIE#E LI, B
VEL VA  BR#8EE L, THN
XVEL IERERE LT, N

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



